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g as directed : 1x8=8

1. Answer the followin

(@) The primary outcome of the liberali-
zation and privatization initiatives
under the New Economic Policy, 1991

was
(i) fiscal policy reforms
(ii) globalization

(iii) monetary policy
above
e the correct option )

reforms

(iv) Non€ of the
( Choos
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(3)
(2)

i t come
| e . d (g) Which of the folloWl;‘lg does no
(b) Which of the following is not a trade under service sector

bz?:n:'i'o - (i) Real estate

e | ) Transport els

(u) iy (iii) Restaurants and ho e. '

(1) Export Seoutty, (iv) Formation of electronic television

(iv) Tariff barrier

( Choose the correct option )
( Choose the correct option )

() The system of acc?unting used in
() In which State the Zabo system of balance of payments 18
indigenous water harvesting is practiced (i) single-entry
in rice cultivation? (ii) double-entry
() Kerala (iii) cash basis
(i) Uttar Pradesh (iv) accrual basis
(iii) Nagaland

( Choose the correct option )
(iv) Karnataka

he followin
( Choose the correct option ) 2. Write short notes on any four of the fo g

(within 100 words each) : 4x%4=16
(d) Mention one negative impact of the NG 12 e
i oty (b) Agricultural price policy

i i Direct
(e} There are different forms of Public (c) Determinants of Foreign
Sector Enterprises in India. Investment '
( Fill in the blank ) (d) Current Account convertibility
WTO
(f/ Department of Promotion of Industry (e)

and Internal Trade is the nodal
department for formation of policies on

3. (@) What is the FRBM Act? Elucidate the
Foreign Direct Investment (FDI).

salient features of the FRBM Act. 2+12=14
( Write True or Falge )
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(b)

(b)

(b)

(b)

( 4)

Or

Explain the consequences of blaf:k
money on Indian economy. Write

a note on the corrective government 14
intervention. 10+4=

Discuss the causes and effects of rural
credit in India. Suggest some measures
to minimize the burden of rural credit.

5+5+4=14
Or

Explain the benefits of sustajnable
agriculture.  Also  point out its
constraints. '

9+5=14
Give an account of India’s industrial
growth and productivity in the post-
reform period. 14
Or
What is the full

form of MsME?
Describe the advantages ang limitations

of MSME sector in India, 1+7+6=14
What are the problems of service sector

in India? Illustrate the ro)e of service
sector in Indian €conomy,

Or

Prepare a mote on the ' trepnqg in
merchandise trade and invisible trade
in India.

5+9=14

8+6=14
* & A
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